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X
In Exelrcises l3f—ti(}, detern:i:le whether the values of x 15, 1 5 ek | 5 ; 36. —1 < —3 <1
are solutions of the inequality 38. 24 < 6
A : 37. |x] <5
Inequality Values A, 40. |5x] > 10
13. 5x— 12> 0 (a) x =3 (b)y x = -3 39. 5 > =
5 .3 =
©) x =3 () x=3 41. |x — 20| < 4 42. |x—17<6
2x + 3
4. x+ 1 < ; @ x =0 (b) x = 4 43, |x — 20| = 4 44. [x + 14| + 3> 17
(c) x=—-4 (d)y x=-3 45, X__j3 >5 46. |l—2x|<5
15, 0T 2<g  (@a=4 (b) x = 10 2 2x
o R a) X = - s
4 o= 2x] =2 g —l 48.‘1— <]
() x=0 ) x=3 47. 19 - 2] 3
— <
16. 2~ 3| <15  (@x=-6 (B x=0 49. 2|x + 10| = 9 50. 34 = 5x| <9
) x = 12 d) x=7 51, [x— 5| <0 52. [x—5|20
17. 2 =3 «0 @ x=3 (b) x=10 )
3 In Exercises 53—60, use absolute value notation to
€) x =13 (d) x= =5 . 3 .
define each interval (or pair of intervals) on the real
18. x2 —x— 1220 () x=15 b) x=0 number line.
(c) x=—-4 (d) x=-3
53 L i I 4 1 1 1
42 k - ' - ' 1
19. =523 (@) x=75 (b) x=14 52 0 1 23
X — 4 9 9
€ x= =3 (d) == 54. < ; : : : —+ ¢
3% -3 < —~ 0 I g 3
20.—7i4<1 @x=-2  (b)x=-1
72
() x=0 (d) x =3 5 34—+
4 5 6 7 8 9 10 11 12 13 14
In Exercises 21-52, solve the inequality and sketch the =~ 56, ——— — J_]
solution on the real number line. -7 -6 -5 -4 -3 2 -1 0 1 2 3
57. All ithi its of
21. 4x < 12 2. 2% > 3 o an rea: numbers within 19 umts. of 12
23. —10x < 40 24. —6x > 15 > real numbers at least five units from 8
25 5 — 5> 7 2%. x4+ 7 <12 59. All real numbers more than five units from —3
2. 4x+ 1) < 20+ 3 28 2 + 7 <3 60. All real numbers no more than seven units from —6
o i < . )
29. 4 - 2x<3 30. 6x —4 <2 61. Think About It The graph of |x = 5] < 3 can be
3. 1< 2p+3 <9 de.scrlbefj as all real numbers within three units of 5.
B 821 =30—2) < 13 Give a similar description of |x — 10| < 8.
by = 2 62. Think About It The graph of |x — 2| > 5 can be

2
B, —4<T <4 . ,
3 described as all real numbers more than five units

Y+ 3 Jrom 2. Give a similar description of |x — 8| > 4.

2

34. 0 < <5



